7\
AY4
n
1]
=
un
L

© 2024 Hansa Armaturen GmbH - www.hansa.com - 25.04.2024

01612106 HANSAMEDIPRO Protec - Washbasin faucet

EAN: 4015474266841
statichansa.com/01612106

Spare parts
SP01612103
Name Code

1 Long lever, L=149 Chrome 02440005
1 Long lever, L=143 Chrome 02450006
1 Lever, L=93 mm Chrome 59914072
11 Screw, M5x8, SW2.5 59904755
12 Bushing 59904778
2 Covering cap Chrome 59914069
3 Tightening nut, M50x1, SW45 59914070
31 0-ring, d 46x2 59912470
4 Cartridge, 4.8 Classic 59911437

41 Hot water limiter 59904759
51 Pop-up operating rod Chrome 59912505
5.2 Swivel joint 59904624
53 Bottom seal 59914591

55 Fixing plate 59904765
5.6 Screw, M8x1, SW13 59904766
57 Fixing set 59910749
58 Installation coupling pair Chrome 59911791

511 Coupling pipe, L=430, M10x1 59912550
513 0-ring, d 7.65x1.78 59902337
514 Fixing screw, M8x1, L=140 59912474
6 Aerator, M24x1 STD PL HC A Laminar (2013-) Chrome 59914054
7 Pop-up waste Chrome 59904620

1


https://static.hansa.com/01612106

